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ECONOMICS - HONOURS

PaPer ; CC-l

(Introductor)' Nlicroeconomics)

Full Nlarks : 65

The fgtrres in the ndrgin indiute.fttll natks'

Con(litlales drc required ta girc theit ansver\ in lheir ovn tods
as Jur ds proctictlble.

Section - A

l. Ans\\er rx) /.n questioni 'il(l
(a) Explah uhether lbllo\ing senlencc: are posi!i\e or nomlaiile

(i) India should panlcipale ir loolball world Cup

(ii) Co\id 19 reduccd (;DP ol lndia sienificantlv.

(b) Whal is Price mcchanism?

(c) whal does ihc.negative sign ofcrols-price clasticil-v- bclween l\o goods inply?

(d) Ho\\ equilihriun oLrtput and price \\ill change *hcn a ne\r tcchnolog l5 introduccdl

(el \\'hich type oi conrnodilr ir itl
(i) Movie hal] 

"hich 
i5 lla,vin-q a \er] popular movic.

(ii) Nlovic hallshich is playing a molic' that peoplc do no! like'

(1) Ho\r does rhe elasticity oi dcmand change $'irh lilnel

(g) $llich ofthc suppl) cur\cs has morc elasiicily olsuppll - steepcr one' or 1he'flattcr one'*hcn

both suppll curlcs lass through dre originl

(h) lf dcnland is unir elastic. c\plam ho$ a declinc in pricc \iill aftect 1otal re\cnu€'

(i) Explain lhc concepl ol consumer surphrs and produocr iurplus'

(j) when a price ceiling is imposcd above tl.j cquilibrium price' \ill it be clltcrnel Lxplain'

(k) Wilh a minimun wage la$. will l.]bour cinplovmcnt increase?

1l)\\hatisthcshspeofinditferencccur\'ewhenlnarginslralc0fsubslilutionbel$cenfw)commoditics
is incrcasing:'

(m) \\'hal is budgc! linel

(n) [hal is Ilicksjan Substitution !.i1cc1?

(o)\rhat\rillbelheshapeoflncomt(lonsumptionCu^e\\'henoneofthclwocomrnodiriesi\inferior?
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2. Write shon notes on arJ rr,ee ofthe lallo$.ing :

(a) Lnponance olcornparativc advanragc in dercnnining lradc patter.

(b) Lau ol-diminishing marginal ulilitt andIhedemand cun.e

(c) Elasticil] and burdoD ofta\ incidencc bel\reen buvers and seIers

(d) Public goods and com

(e) Infiriorgoods and Giffengoods.

5rl

Section - C

An\,\cr./rJ 1rr"e.lucslions.

3. suppose thal lherc arc l0 nirion 
'',orkcrs 

in India and lrar each ol lhese \vorkers can produce cirher 2 crrs
or 30 balcs ofra$ cottor in a ]ear
/Jl Dr. h I rJ:i . n,,JLcr .r oJ\.rqi I\ rruflie..

(b) Whal is the opporiunit) cosr ofprodLrcinga oar in Indial
(c) lflndir choose\ ro consumc r0 ,ifion cars, ho\\ much conon can ii consume \\'irhour tradc? Laberthiso ."'rh. f-^ru.r'onl.^..rq L) rr - i<-

(d) No\\ suppose &at Bangradesh oli.rs ro bu] 10 miltion cars liom India 1r c\channc r'or 20 bares ofr.s \rllon rc .1 nrrlnru.r orndf u. cnt.r..rnd !ar.l.dr r,. a.rr ".r". r.0,,.
consune boih the goods. Lxplai. ,\ herher India sh outd accepr this deat or no t. / 2+2+l

1. (r) U s ing supplr- xnd demand d iagrarns. shor lhc effec1 ofthe fil o\\.ing c! cnts on th c equilihrium pricc and
u trnl l\ n.r. r Jr\ct .{ \Jlc . .,t Jo-. a \rru\

(i) Thc cosl olproduclion ofrhe \ accinc ials.
(iil Thcre is a sulden risc in th. number ot corona virus intacred parienls.

(b) L\pla lhe starcmelt ..Nlarkel\ 
are usualty a good $.ay ro organizc cconomic activily..

(c) Desoribe l!\o situalions qherc go\emmcnrs can nnprove narket outcomes. {212)+r+l

5. The demand and \uppl), cun,es ofo.anges arc given by the equations:

QJ: 'lt)o 5oP

(): '\+l)iP
*hcre P is dre pricc per unil oforangc measured nr rupees !nd e is thc quaniil,-
(a) I,lot lhc dema.d ard suppiy cuncs and lind the nrarkel clcaring price and quantir).

(b) Supposethc go\'emmcnl i poscsapriccceitinglhatis{2beloxtheequitibriumpricc.Wharwillberhc
ner! markel price? IIolv man) orange\ \\ilt be sdd no\\r

(c) suppose thc govemrncnt imposcs a ra\ of< 1.50 per unil on selers. Find thc new equitibrium quantit
and the pricc recei\cd b), sellcrs and p.tid b),'. bulcr 4+(l_t)r|_ll
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(z+2)+(z+2+z)

6. (a) Explain the reiationship between slope ofa demand curve and ils price elasticity.

(b) Prove that a linear demand cuve $,i]i have different elasticity on differcnt points along the demand

(c) futika always spends one-third olher income on clothing. what is her income elasticity a price elasticity
ofclolhing demand? 2+44

(a) Comment on the shape ofthe indifference cu've and marginal rale ofsubstitulion when two goods are

(i) perfect substitutes and

(ii) perfect complements.

(b) Suppose x and Y are nonnal goods and a consumer vie s them as imperfect subslitutes.

Assuming her budget increases fromMl to M2 when prices ofboth lhe goods and her tastes to remain
constant at their initial level, show diagranrmatically her

7.

(i) Inco'ne consumplion cune

(ii) lnpact on the demand cune 1br X

(iii) rnsel ourvc 1or x.
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